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QUESTION 1

What are two functionalities of edge data services? (Choose two.) 

A. creating a machine learning data model 

B. supporting many interfaces and APIs 

C. applying advanced data analytics 

D. filtering, normalizing and aggregating data 

E. saving data for a prolonged time period 

Correct Answer: DE 

 

QUESTION 2

When an RS232 device is connected to a Cisco IR829 router, the data collected is not being parsed correctly by the
edge application. 

Which two steps should be taken to troubleshoot the issue? (Choose two.) 

A. SSH access on the Cisco IR829 router must be enabled for IOx Guest OS. 

B. Communication mode must be set to half duplex over serial connection. 

C. Serial cable length should not exceed 1.5 meters. 

D. Ensure that communication parameters like baud rate and parity are set correctly. 

E. Set the cable connections based on the PIN layout from the sensor vendor. 

Correct Answer: DE 

 

QUESTION 3
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Refer to the exhibit. Which product must be positioned where the "?" is placed to connect these different network
levels? 

A. firewall 

B. switch 

C. router 

D. wireless access port 

Correct Answer: C 

 

QUESTION 4

Which two commands inside a Docker container on a gateway help to troubleshoot why the compute performance of the
device is slowing down? (Choose two.) 

A. show processes 

B. top 

C. wmic 

D. ps 

E. proc 

Correct Answer: BD 
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QUESTION 5

After an application is deployed, potential issues arise around connectivity. As part of the troubleshooting process, the
IP address must be determined to ensure end-to-end communication. 

Which method provides the required details using the Cisco IOx CLI? 

A. ioxclient application status  

B. ioxclient application metrics  

C. ioxclient application getconfig  

D. ioxclient application info  

Correct Answer: D 
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